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Test Questions 1 Test Assignment

Question 1   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Each question carries 2 marks. For each question, four options are given. One of them is the
correct answer. Make your choice (A, B, C or D). 


In 76 235, the digit 7 has the value of _______

A) 70

B) 700

C) 7000

D) 70 000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,117

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 2   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Which one of the following is the same as 2500?

A) 25 ones

B) 25 tens

C) 25 hundreds

D) 25 thousands
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,123

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 3   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

What is 1000 less than 80 008?

A) 79 008

B) 79 108

C) 80 108

D) 81 008

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,129

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 4   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Round off 39 490 to the nearest thousand.

A) 39 000

B) 39 500

C) 40 000

D) 40 500

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,137

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 5   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Which of the following is a common multiple of both 8 and 9?

A) 18

B) 56

C) 64

D) 72
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,145

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 6   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

How many angles inside the figure shown below are greater than a right angle?


A) 1

B) 2

C) 3

D) 4

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,153

 Answers
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 |  Reorder Remove From Test

Question 7   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

In the figure below, which of the following lines is parallel to AB?
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A) AD

B) AE

C) BC

D) ED

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,159

 Answers
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 |  Reorder Remove From Test

Question 8   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Which one of the letters has no lines of symmetry?

A)

B)
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C)

D)

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,183
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Question 9   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

I am an odd number.

I am a multiple of 3 and a factor of 30.

I am greater than 10.

What number am I?

A) 9

B) 15

C) 21

D) 27

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,193

 Answers
 |  Edit  |  Duplicate  |  Used In
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Question 10   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Lily spent 1/5 of her savings on a bag. She also bought a pair of shoes for $35 and had $65 left. How
much savings did she have at first?

A) $100

B) $120

C) $125

D) $500
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,198

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 11   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

A) 6

B) 9

C) 10

D) 15

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,207
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Question 12   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts
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A) NE

B) SE

C) E

D) S

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,214

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 13   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Jane baked 96 cupcakes. She sold 5/8 of the cupcakes. How many cupcakes were not sold?

A) 12

B) 24

C) 36

D) 60

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,221

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 14   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts
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Father paid $240 for 3 shirts and a jacket. The jacket cost twice as much as the shirt. How much did
Father pay for the jacket?

A) $48

B) $60

C) $80

D) $96

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,234

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 15   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Kayla is 16 years old. Mona is 4 years older than her. In how many years' time will their total age be 70
years?

A) 17

B) 20

C) 34

D) 36

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,239

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 16   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Each question carries 2 marks. Write your answers in the spaces provided. For questions which
require units, give your answers in the units stated.


Write 20 711 in words.

Accepted answers:

Twenty thousand, seven hundred and eleven

twenty thousand , seven hundred and eleven

twenty thousand seven hundred and eleven

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: Mon 21st Sep 2020
QID#: 23,459,301
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 17   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Look at the number pattern below and fill in the missing number.


26 300 , 26 450 , 26 600 , _______ , 26 900

Accepted answers:

26 750

26750

26,750

26, 750

26 , 750

26 ,750

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,317

Correctly answered feedback
+ 150 for each number

26,600 + 150 = 26,750

Incorrectly answered feedback
+ 150 for each number

26,600 + 150 = 26,750

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 18   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Here are five number cards.


4     5     2     8     1


Arrange these cards to form the smallest 5-digit odd number.

Accepted answers:

12485

12 485

12,485

12, 485

12 ,485

12 , 485

Question Type: Free Text
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Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,325

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 19   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

List all the factors of 16.

Accepted answers:

1, 2, 4, 8 and 16

1, 2, 4, 8, 16

1 , 2 , 4 , 8 and 16

1 , 2 , 4 , 8 , 16

1,2,4,8,16

1,2,4,8 and 16

1 2 4 8 16

1 2 4 8 and 16

1, 4, 2, 8, 16

1, 16, 2, 4, 8

16, 2, 1, 4, 8

16, 8, 4, 2, 1

2, 4, 1, 8, 16

1 16 2 4 8

1, 8, 16, 2, and 4

2 4 1 8 and 16

16, 1, 2, 4 and 8

8 2 4 16 and 1

1, 16, 8, 2 and 4

4, 2, 8, 1 and 16

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,378

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 20   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

345 x 68 = _______

Accepted answers:

23460

23 460
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23,460

23, 460

23 ,460

23 , 460

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,382

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 21   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

What is the remainder when 4385 is divided by 3?

Accepted answers:

2

two

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,384

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 22   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Accepted answers:

1

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,439

Correctly answered feedback
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 23   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Accepted answers:

2/3, 5/6, 1, 5/4

2/3 , 5/6 , 1 , 5/4

2/3 5/6 1 5/4

2/3,5/6,1,5/4

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,448

Correctly answered feedback
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Incorrectly answered feedback

 Answers
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Question 24   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Accepted answers:

58

Question Type: Free Text
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Last Modified: N/A
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QID#: 23,459,455

Correctly answered feedback

90o - 32o = 58o

Incorrectly answered feedback

90o - 32o = 58o

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 25   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Accepted answers:

4/9

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,458

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 26   Primary 4 Maths » Primary 4 Math (Term 2) 0 pts
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.


Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.


"Please put "Done" in the question space below in order to proceed to the next question"

Question Type: Essay
Date Added: Sat 5th Sep 2020
Last Modified: Mon 21st Sep 2020
QID#: 23,459,492

Correctly answered feedback

Incorrectly answered feedback
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 27   Primary 4 Maths » Primary 4 Math (Term 2) 0 pts

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.


Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.


"Please put "Done" in the question space below in order to proceed to the next question"

Question Type: Essay
Date Added: Sat 5th Sep 2020
Last Modified: Mon 21st Sep 2020
QID#: 23,459,501

Correctly answered feedback
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 28   Primary 4 Maths » Primary 4 Math (Term 2) 0 pts

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.


Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.


"Please put "Done" in the question space below in order to proceed to the next question"

Question Type: Essay
Date Added: Sat 5th Sep 2020
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Last Modified: Mon 21st Sep 2020
QID#: 23,459,511

Correctly answered feedback

Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 29   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts
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Accepted answers:

30

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,459,589

Correctly answered feedback

90o / 3 = 30o

Incorrectly answered feedback

90o / 3 = 30o

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 30   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Accepted answers:

35

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
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QID#: 23,461,586

Correctly answered feedback
4u = 20

1u = 20 / 4 = 5

7u = 5 x 7 = 35

Incorrectly answered feedback
4u = 20

1u = 20 / 4 = 5

7u = 5 x 7 = 35

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 31   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Julie has $108. If she spends 1/9 of her money, the amount of money left will be the same as what
Huiling has. How much does Huiling have?


Ans: $______

Accepted answers:

$96

96

$ 96

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,613

Correctly answered feedback
9u = $108

1u = $108 / 9 = $12

Huiling = $108 - $12 = $96

Incorrectly answered feedback
9u = $108

1u = $108 / 9 = $12

Huiling = $108 - $12 = $96

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 32   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

The number of English storybooks in the school library is 3 times the number of Chinese storybooks.
There are 1221 English storybooks.
How many more English storybooks than Chinese storybooks are there?

Accepted answers:

814

814 storybooks

814 English Storybooks
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Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,664

Correctly answered feedback
3u = 1221

1u = 1221 / 3 = 407

Chinese = 407

Difference = 1221 - 407 = 814

Incorrectly answered feedback
3u = 1221

1u = 1221 / 3 = 407

Chinese = 407

Difference = 1221 - 407 = 814

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 33   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Julia, Siti and Betty had 330 beads altogether. Julia had twice as many beads as Betty. Siti had 50
beads more than Betty.

How many beads did Betty have?


Ans: ______ beads

Accepted answers:

70

70 beads

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,721

Correctly answered feedback
4u = 330 - 50 = 280

1u = 280 / 4 = 70

Betty = 70 beads

Incorrectly answered feedback
4u = 330 - 50 = 280

1u = 280 / 4 = 70

Betty = 70 beads

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 34   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts
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Ans: $______

Accepted answers:

$60

60

$ 60

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,757

Correctly answered feedback
1 set = 3 + 1 = $4

3 x $4 = $12

20 / $4 = 5 sets

5 x $12 = $60

Incorrectly answered feedback
1 set = 3 + 1 = $4

3 x $4 = $12

20 / $4 = 5 sets

5 x $12 = $60

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 35   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Wendy and Joanne have a total of 90 stamps. Wendy has 5 times as many stamps as Joanne. How
many stamps must Wendy give to Joanne so that each of them has an equal number of stamps?

Accepted answers:

30

30 stamps

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: Mon 21st Sep 2020
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QID#: 23,461,788

Correctly answered feedback
6u = 90

90 / 6 = 15 (1u)

2u = 15 + 15 = 30 stamps

Incorrectly answered feedback
6u = 90

90 / 6 = 15 (1u)

2u = 15 + 15 = 30 stamps

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 36   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

For each question, show your working clearly and write your answer in the space provided. 


a) Find QR.


Ans: ______ cm

Accepted answers:

12 cm

12cm

12

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: Mon 21st Sep 2020
QID#: 23,461,825

Correctly answered feedback
40 - 28 = 12 cm

Incorrectly answered feedback
40 - 28 = 12 cm

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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Question 37   Primary 4 Maths » Primary 4 Math (Term 2) 1 pt

b) Find PV.


Ans: ____cm

Accepted answers:

7

7cm

7 cm

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: Mon 21st Sep 2020
QID#: 23,461,841

Correctly answered feedback
12 - 5 = 7 cm

Incorrectly answered feedback
12 - 5 = 7 cm

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 38   Primary 4 Maths » Primary 4 Math (Term 2) 3 pts

Mrs Lee bought 8 kg of cherries. She gave 1/4 of it to her friend and ate 1/2 kg. How much cherries had
she left?


Ans: ______ kg

Accepted answers:

5 1/2 kg

5 1/2kg

5 1/2

5.5 kg

5.5

5.5kg
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Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: Mon 21st Sep 2020
QID#: 23,461,884

Correctly answered feedback

Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 39   Primary 4 Maths » Primary 4 Math (Term 2) 4 pts
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A baker baked 120 cupcakes on Tuesday. He packed them into boxes of 6 and sold them at $12 per
box. At the end of the day, 3 boxes were left unsold. 

How much money was collected from the sale of the cupcakes?


Ans: $____

Accepted answers:

204

$204

$ 204

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,910

Correctly answered feedback
120 / 6 = 20

20 - 3 = 17

17 x $12 = $204

Incorrectly answered feedback
120 / 6 = 20

20 - 3 = 17

17 x $12 = $204

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 40   Primary 4 Maths » Primary 4 Math (Term 2) 4 pts

Accepted answers:

135 pages

135

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,939

Correctly answered feedback
4u = 180

1u = 180 / 4 = 45

Saturday = 45 x 2 = 90

Sunday = 45 x 5 = 225

Difference = 225 - 90 = 135 pages
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Incorrectly answered feedback
4u = 180

1u = 180 / 4 = 45

Saturday = 45 x 2 = 90

Sunday = 45 x 5 = 225

Difference = 225 - 90 = 135 pages

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 41   Primary 4 Maths » Primary 4 Math (Term 2) 4 pts

Mrs Chan ordered 30 new blouses and jeans for her shop. Each blouse cost $20 and each pair of
jeans cost $30. She paid $730 altogether. 

How many blouses did she buy?


Ans: ______ blouses

Accepted answers:

17

17 blouses

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,961

Correctly answered feedback
Assume all jeans: 

30 x $30 = $900

$900 - $730 = $170

Difference $30 - $20 = $10

Blouse: $170 / $10 =17

Incorrectly answered feedback
Assume all jeans: 

30 x $30 = $900

$900 - $730 = $170

Difference $30 - $20 = $10

Blouse: $170 / $10 =17

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 42   Primary 4 Maths » Primary 4 Math (Term 2) 4 pts

2 storybooks cost as much as 3 comics. Zoe paid $48 for 4 storybooks. 

How much must she pay if she wants to buy 5 comics?


Ans: $_____

Accepted answers:

$40

40

$ 40
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Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,461,987

Correctly answered feedback
4 storybooks: $48

1 storybook: $48 / 4 = $12

2 storybooks: $12 x 2 = $24

1 comic: $24 / 3 = $8

5 comics: $8 x 5 = $40 

Incorrectly answered feedback
4 storybooks: $48

1 storybook: $48 / 4 = $12

2 storybooks: $12 x 2 = $24

1 comic: $24 / 3 = $8

5 comics: $8 x 5 = $40 

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 43   Primary 4 Maths » Primary 4 Math (Term 2) 4 pts

Natalie saved $30 more than Cindy. Ariel saved 3 times as much money as Natalie. The 3 girls saved a
total of $300. How much money did Natalie save?


Ans: $_____

Accepted answers:

66

$66

$ 66

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,462,013

Correctly answered feedback
5 sets: $300 + $30 = $330

Natalie: $330 / 5 = $66

Incorrectly answered feedback
5 sets: $300 + $30 = $330

Natalie: $330 / 5 = $66

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 44   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Paul and Joe had 192 marbles altogether. After Paul had given 34 marbles to Joe, Joe had 3 times as
many marbles as Paul.


a) How many marbles did Paul have in the end?
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Ans: _____ marbles

Accepted answers:

48

48 marbles

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,462,042

Correctly answered feedback

Incorrectly answered feedback
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 45   Primary 4 Maths » Primary 4 Math (Term 2) 2 pts

Paul and Joe had 192 marbles altogether. After Paul had given 34 marbles to Joe, Joe had 3 times as
many marbles as Paul.


b) How many marbles did Joe have at first?


Ans: _____ marbles

Accepted answers:

110

110 marbles

Question Type: Free Text
Date Added: Sat 5th Sep 2020
Last Modified: N/A
QID#: 23,462,064

Correctly answered feedback
Joe = 3u (end)

Initially, Joe = 3u - 34

3 x 48 = 144

144 - 34 = 110 marbles

Incorrectly answered feedback
Joe = 3u (end)

Initially, Joe = 3u - 34

3 x 48 = 144

144 - 34 = 110 marbles
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 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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